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Q1:                                                                                                                          B
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ABC is an isosceles triangle with AB = BC and AC = 32cm.
Using as much information from the table as is necessary, calculate
a) AB   b) the area of triangle ABC.                (4)
                                                                 
                                                                                                               A                     32cm                       C    
Q2: Solve the simultaneous equations       x = 2y + 11
                                                                    4x + 3y = 0                                                                               (4)
Q3: a) Given that a = 2 and  b = -5, find the value of a.                                                                          (2)                                                               
b) Solve the equation                                                                                                                          (4)                                                                                                                           
i)  = 12                              
ii)                  
Q4: a) Solve the inequality 3 – 2x < 5.                                                                                                       (2)              
c) Solve the equation  = 1 +                                                                                                  (3)
d) Simplify                                                                                                                           (3)   
e) i) Find the smallest integer k which satisfies   7k ≥ 36                                                                  (3)
ii) Find the largest integer n which satisfies 3n – 1 < 26                                                                                            
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